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R 2002 0.6m 1.
Y Y l 2
o
v KNm' 6 203 19.1 199 05 0.02 /
w % 231 191 207 1.8 0.09 /
A A e - 0.714  0.590 0.635 0.052  0.08 /
w % 413 345 380 33 0.09 /
w % 2.1 174 197 22 0.11 /
cw Ip - 197 167 183 1.3 0.07 /
1l 032 -0.14 006 021 3.35 /
S a 1-2 Mpa' 024 006 012 008 0.63 /
Es MPa 2663 692 1757  8.19 0.47 /
¢ kPa 1080 504 816 224 0.27 60.3
) 333 55 244 119 0.49 13.1
12 11.0 55 73 1.7 0.23 /
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d=0.8m b=1.2m 2 2

27 24 10 13.7 3.8 0.27 12.8
+2.055% 20x 0.8+4.555% 60.3=313kpa
3
190kPa KN mm Pa - P~S
fa=fak+tn nyw b-3 Ny . d-05 = 1 600 49.13 202 430
190+1.6x 20x 0.8-0.5 =200kpa 2 600 31.86 206 4.00
3 600 44.65 195 8.00 fak=212kPa
4 400 13.61 233 5.00 E0=24.4MPa
5 400 18.27 223 5.00
fak  190kPa. Eo=B Es B =1-2u ¥ 1-p Y 0.20~
025 B 0.90~0.83 B 0.87
2.1 Eo=24.4MPa Es=28.0MPa
Eo
33.0MPa Es=37.9MPa,
2.2
~ 2m 2
2 Cu=6.66
Cc=1.28,
N<15 Es=C N+6 =0.7x 13.7+6 =13.8MPa
“ ” OOC 30 43
AP 80%~99.9% NN
.1 164 0.8 .
40 50 .
4000 10% 1000
“ ”\u21 ”O
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